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QUESTION 1

The following description of IGMPv1 and IGMPv2 is correct?( Multiple select). 

A. IGMPv2 message types include member departure packets 

B. IGMPv2 does not support specific group queries 

C. IGMPv1 supports universal group queries 

D. The IGMPv1 message type does not contain members leaving the packet AD 

Correct Answer: ACD 

 

QUESTION 2

As shown in the following topology, EBGP is running between ASI0O0, AS.203, AS.30, AS8400, and the neighbor
relationship has been established as RECEIVed by AS4O0 When AS1OO issues a 1..11/2 CIDR segment BGP route,
the path order recorded in the ASPath attribute is correct 

A. 10,200,3 

B. 400,300,200,100 

C. 100,200,300,400 

D. 300,200,100 

Correct Answer: D 

 

QUESTION 3
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In the laboratory network, the network is built according to the following topology diagram, SWI is the default
configuration, and SW2 disables the switch STP function. 

A. SG0/0/2 for WI enters the Discarding state 

B. SW2 and G0/0/1 enters the Discarding state 

C. SW2 G0/0/2 enters discarding state 

D. No interface is backed up for blocking 

E. SWI\\'s G0/0/1 enters the Discarding state 

Correct Answer: D 

 

QUESTION 4

There is an existing router running OSPF connected to Zone 0 and Zone 1 You configured Zone 1 as a stub zone, what
classes does LSA that only operates inside Zone 1 include? 

A. 7 ? LSA 

B. 1 ? LSA ? 2 ? LSA 

C. I LSA,2 LSA 5 LSA 

D. 3 ? LSA ? 4 ? LSA 

E. 1 LSA,2 LSA 3 LSA 

Correct Answer: E 

 

QUESTION 5

The following description of the Lsp shard extension for ISIS is correct? 
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A. Enables is routers to generate more LSP shards to carry more ISIS information. 

B. Isis\\' shard extension is equally valid for Hello packets. 

C. Shard scaling for ISIS is achieved by adding virtual systems, up to 1000 virtual systems. 

D. The isis router can produce a maximum of 1024 shards. 

Correct Answer: A 
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